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'HQJDQ�VHOHVDL�Q\D�WXJDV�DNKLU�LQL��SHQXOLV�LQJLQ�PHQJXFDSNDQ�WHULPD�NDVLK�

NHSDGD�SLKDN�SLKDN�\DQJ�VXGDK�VDQJDW�EHUMDVD�GDODP�SHQJHUMDDQ� WXJDV�DNKLU� LQL��

SHQXOLV�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD��

�� $OODK� 6:7� NDUHQD� DWDV� EHUNDW� UDKPDW� GDQ� NDUXQLD�1<$� VD\D� GDSDW�

PHQJHUMDNDQ�WXJDV�LQL�GHQJDQ�EDLN��GDQ�VHODOX�PHQMDGL�WHPSDW�PHQJDGX�GDQ�

EHUGRD�XQWXN�VHWLDS�SHUPDVDODKDQ��

�� .HGXD�RUDQJ�WXD�VD\D��D\DK�GDQ�PDPD�\DQJ�VHODOX�PHPEHULNDQ�GXNXQJDQ�

GDQ� GRD� Q\D� NHSDGD� VD\D�� 6HPRJD� D\DK� GDQ�PDPD� VHODOX� EHUDGD� GDODP�

OLQGXQJDQ�GDQ�UDKPDW�$OODK�6:7��

�� $GLN�VD\D��/L]LD��WHULPD�NDVLK�DWDV�EDQWXDQ�GXNXQJDQ�GDQ�GRD�Q\D�VHODPD�

SHQXOLV�PHQJHUMDNDQ�WXJDV�DNKLU�LQL��

�� .HOXDUJD�EHVDU� VD\D�� WHULPD�NDVLK�DWDV�GXNXQJDQ�GDQ�GRD�Q\D�PXODL�GDUL�

VD\D�PHQJLQMNDQ�NDNL�GL�SHUNXOLDKDQ�LQL�VDPD�VHOHVDL�SHUNXOLDKDQ�LQL��

�� %DSDN�(UZLQ�6XVDQWR��VHODNX�SHPELPELQJ�SHUWDPD�VD\D��WHULPD�NDVLK�DWDV�

ELPELQJDQ� Q\D� NHSDGD� VD\D� GDQ� MXJD� WHULPD� NDVLK� VXGDK� PHOXDQJNDQ�

ZDNWXQ\D�VHWLDS�NDOL�LQJLQ�PHODNXNDQ�ELPELQJDQ��6HPRJD�DOODK�6:7�VHODOX�

PHPEHULNDQ�OLQGXQJDQ�GDQ�UDKPDW�1<$�NHSDGD�EDSDN�GDQ�NHOXUJD��

�� %DSDN�0XKDPPDG $U\�0XUWL��VHODNX�SHPELPELQJ NHGXD�VD\D��WHULPD�NDVLK�

DWDV�ZDNWX�OXDQJ�Q\D�XQWXN�PHPEHULNDQ�VD\D�ZDNWX�PHODNXNDQ�ELPELQJDQ�

GDQ�WHULPD�NDVLK�DWDV�DUDKDQ�GDQ�MXJD�VDUDQ�VDUDQ�Q\D�NHSDGD�VD\D��6HPRJD�

DOODK�6:7�VHODOX�PHPEHULNDQ�OLQGXQJDQ�GDQ�UDKPDW�1\D�NHSDGD�EDSDN�GDQ�

NHOXDUJD��

�� %DSDN�6LJLW�<XZRQR��VHODNX�NDSURGL�6��7HNQLN�(OHNWUR��WHULPD�NDVLK�NDUHQD�

VXGDK� PHPEDQWX� SHQXOLV� PHQJXUXV VHJDOD� \DQJ� EHUKXEXQJDQ� GHQJDQ�

DNDGHPLN�GL�SHUNXOLDKDQ�LQL��

�� %DSDN�5DPGKDQ�1XJUDKD��VHODNX�ZDOL�GRVHQ�VD\D�GL�NHODV�HO�������WHULPD�

NDVLK�VXGDK�PHPEDQWX�VD\D�GL�SHUNXOLDKDQ��

�� 6HIUL]DO�HND��WHULPD�NDVLK�VXGDK�PHPEHULNDQ�EDQWXDQ�Q\D�VHODPD�SHQJHUMDQ�

WXJDV�DNKLU�LQL��

��� 7HONRP�''6��WHULPD�NDVLK�VXGDK�PHPEHULNDQ�ZDGDK�XQWXN�PHQJHUMDNDQ�

WXJDV�DNKLU�LQL��
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��� %DJDVNRUR�PXKDPDG��5LGZDQ� WHPDQ� VHSHUMXDQJDQ�7$�GDQ� VHSHUMXDQJDQ�

GDUL�7DQJHUDQJ�

��� $QDN�DQDN�NRQWUDNDQ�*%$�EORN�'�����WHULPD�NDVLK�DWDV�KLEXUDQ�Q\D�VDDW�

PHQJDODPL�PDVD�VXOLW��

��� $UQH]��WHULPD�NDVLK�DWDV�PDNDQDQ�Q\D�VHWLDS�NDOL�EHUNXQMXQJ�NH�NRQWUDNDQ�

PHPEHULNDQ�GXNXQJDQ��

��� 7HPDQ�VDWX�WRSLN�7$�VD\D�\XOLXV�GDQ�NHYLQ��WHULPD�NDVLK�DWDV�EDQWXDQ�Q\D�

��� 6HOXUXK� ZDUJD� 7HONRP� 8QLYHUVLW\� \DQJ� WHODK� PHPEDQWX� SHQXOLV�

PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL��

��� 6HOXUXK�ZDUJD�VHNLWDU�NDPSXV�WHONRP�XQLYHUVLW\�\DQJ�WHODK�EHUNRQWULEXVL�

VHFDUD�ODQJVXQJ�PDSXQ�WLGDN�ODQJVXQJ�WHUKDGDS�VHOHVDL�Q\D�WXJDV�DNKLU�LQL�


